550

IS

£

\.‘_

I~
= |

110>

xR BSFEEBEFDOE (2,100m)

EITYVIRE

AREiR 1 £280 70D24¥W00

F=R=HT50H%

IEST No.  EF4 2VUH+ i G

1 72 B A vXHT hAk INETILNEE MRS 74342%) 28
2 66 BE #BeR TH, 7YIRYT INETTILINESE SN 84304%) 90
3 79 XA BE FHAL FyRA INETSLINESE NP 84305%) 58
4 18 KE kw 7/ aJF INETH LN — N 85306%) 91
5 13 =RE k- o048 ao4F U AT /N 2 84307%) 09
6 68 Bim £F AVARE/ & =1 INETHILINESE INFRR 85320%) 80
7 73 = 1BA BhNY Ak INETIL/INE S/ 843-20%) 88
8 40 K BE FAYE nLw INFET LN S /N AR 85322 90
9 27 INE R Y9 hrs INETIILINESE NP 85326%) 40
10 76 Al Kk A2HT B24+t4A INETISLINESS NP 84329%) 93
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1 1 Bl BEF LhT 743 INET IR B B/NERE 153578 61
2 42 FH BX L7414 IF% INETRILTEINE FHINFHBE 843158} 50
3 12 Hep &7 Arh 3/ INETIL/INE TN 85336%) 34
4 34 BH TAN HhA4 RIL INET IS+ TN 853517 44
5 2 B H%E Yo EEAH INET I ER /N 84355} 59
6 23 WH BN A/t FI*x INETIL/INESE AN 84356%) 93
7 21 SH ZHE A4<4 Fa+ INETILINEE RINER 943027 11
8 18 &k fTE Yo THY INETRIL/NEE BN 94303%) 93
9 4 me X HSY =7k HUR Al 953115 39
10 8 BNl EXR TUhD 3*xT INETILINESE Z /IR 953147 16




